
HSubsuperscript@A, Subscript@λ, f'D, Subscript@J, ZDD
H2 ∗ Subscript@J, 0D + 1L H2 ∗ Subscript@J, ZD + 1L^H1ê2L Subsuperscript@d,
8Subscript@λ, iD, Subscript@λ, ZD − Subscript@λ, γD<, Subscript@J, 0DD 

Subsuperscript@D, 8Subscript@λ, ZD, Subscript@λ, f'D<, Subscript@J, ZDD 

Subsuperscript@T, 8Subscript@λ, ZD, Subscript@λ, γD, Subscript@λ, iD<,
Subscript@J, 0DD Exp@I ∗HSubscript@λ, iD − Subscript@λ, ZD + Subscript@λ, γDL∗ ϕD

Exp@I ∗ HSubscript@λ, ZD − Subscript@λ, f'DL ∗ ϕ'DL

ÆÇ ϕ Hλi−λZ+λγL+Ç HλZ−λf�L ϕ� H1 + 2 J0L è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d8λi,λZ−λγ<

J0 D8λZ,λf�<
JZ T8λZ,λγ,λi<

J0

Sum@Out@41D, 8Subscript@λ, iD, −1, 1<, 8Subscript@J, 0D, 0, 2<D

ÆÇ ϕ H−1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d8−1,λZ−λγ<

0 D8λZ,λf�<
JZ T8λZ,λγ,−1<

0 +

3 ÆÇ ϕ H−1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d8−1,λZ−λγ<

1 D8λZ,λf�<
JZ T8λZ,λγ,−1<

1 +

5 ÆÇ ϕ H−1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d8−1,λZ−λγ<

2 D8λZ,λf�<
JZ T8λZ,λγ,−1<

2 +

ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d80,λZ−λγ<

0 D8λZ,λf�<
JZ T8λZ,λγ,0<

0 +

3 ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d80,λZ−λγ<

1 D8λZ,λf�<
JZ T8λZ,λγ,0<

1 +

5 ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d80,λZ−λγ<

2 D8λZ,λf�<
JZ T8λZ,λγ,0<

2 +

ÆÇ ϕ H1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d81,λZ−λγ<

0 D8λZ,λf�<
JZ T8λZ,λγ,1<

0 +

3 ÆÇ ϕ H1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d81,λZ−λγ<

1 D8λZ,λf�<
JZ T8λZ,λγ,1<

1 +

5 ÆÇ ϕ H1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d81,λZ−λγ<

2 D8λZ,λf�<
JZ T8λZ,λγ,1<

2

Removing wrong wigner d matrix elements :

3 ÆÇ ϕ H−1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d8−1,λZ−λγ<

1 D8λZ,λf�<
JZ T8λZ,λγ,−1<

1 +

5 ÆÇ ϕ H−1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d8−1,λZ−λγ<

2 D8λZ,λf�<
JZ T8λZ,λγ,−1<

2 +

ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d80,λZ−λγ<

0 D8λZ,λf�<
JZ T8λZ,λγ,0<

0 +

3 ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d80,λZ−λγ<

1 D8λZ,λf�<
JZ T8λZ,λγ,0<

1 +

5 ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d80,λZ−λγ<

2 D8λZ,λf�<
JZ T8λZ,λγ,0<

2 +

3 ÆÇ ϕ H1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d81,λZ−λγ<

1 D8λZ,λf�<
JZ T8λZ,λγ,1<

1 +

5 ÆÇ ϕ H1−λZ+λγL+Ç HλZ−λf�L ϕ� è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�
JZ d81,λZ−λγ<

2 D8λZ,λf�<
JZ T8λZ,λγ,1<

2

Collect@
Collect@Collect@Out@43D, Subsuperscript@A, Subscript@λ, f'D, Subscript@J, ZDDD,
H1 + 2 Subscript@J, ZDL^H1ê2LD,

Subsuperscript@D, 8Subscript@λ, ZD, Subscript@λ, f'D<, Subscript@J, ZDDD
è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�

JZ D8λZ,λf�<
JZ

H3 ÆÇ ϕ H−1−λZ+λγL+Ç HλZ−λf�L ϕ� d8−1,λZ−λγ<
1 T8λZ,λγ,−1<

1 + 5 ÆÇ ϕ H−1−λZ+λγL+Ç HλZ−λf�L ϕ� d8−1,λZ−λγ<
2 T8λZ,λγ,−1<

2 +

ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� d80,λZ−λγ<
0 T8λZ,λγ,0<

0 + 3 ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� d80,λZ−λγ<
1 T8λZ,λγ,0<

1 +

5 ÆÇ ϕ H−λZ+λγL+Ç HλZ−λf�L ϕ� d80,λZ−λγ<
2 T8λZ,λγ,0<

2 + 3 ÆÇ ϕ H1−λZ+λγL+Ç HλZ−λf�L ϕ� d81,λZ−λγ<
1 T8λZ,λγ,1<

1 +

5 ÆÇ ϕ H1−λZ+λγL+Ç HλZ−λf�L ϕ� d81,λZ−λγ<
2 T8λZ,λγ,1<

2 L
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Sum@Out@58D, 8Subscript@λ, ZD, −1, 1<D
è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�

JZ D8−1,λf�<
JZ

H3 ÆÇ ϕ λγ+Ç H−1−λf�L ϕ� d8−1,−1−λγ<
1 T8−1,λγ,−1<

1 + 5 ÆÇ ϕ λγ+Ç H−1−λf�L ϕ� d8−1,−1−λγ<
2 T8−1,λγ,−1<

2 +

ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ� d80,−1−λγ<
0 T8−1,λγ,0<

0 + 3 ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ� d80,−1−λγ<
1 T8−1,λγ,0<

1 +

5 ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ� d80,−1−λγ<
2 T8−1,λγ,0<

2 + 3 ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ� d81,−1−λγ<
1 T8−1,λγ,1<

1 +

5 ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ� d81,−1−λγ<
2 T8−1,λγ,1<

2 L +
è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�

JZ D80,λf�<
JZ H3 ÆÇ ϕ H−1+λγL−Ç λf� ϕ

�
d8−1,−λγ<

1 T80,λγ,−1<
1 + 5 ÆÇ ϕ H−1+λγL−Ç λf� ϕ

�
d8−1,−λγ<

2 T80,λγ,−1<
2 +

ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
0 T80,λγ,0<

0 + 3 ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
1 T80,λγ,0<

1 + 5 ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
2 T80,λγ,0<

2 +

3 ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
1 T80,λγ,1<

1 + 5 ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
2 T80,λγ,1<

2 L +
è!!!!!!!!!!!!!!!!!1 + 2 JZ Aλf�

JZ D81,λf�<
JZ H3 ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ� d8−1,1−λγ<

1 T81,λγ,−1<
1 +

5 ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ� d8−1,1−λγ<
2 T81,λγ,−1<

2 + ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ� d80,1−λγ<
0 T81,λγ,0<

0 +

3 ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ� d80,1−λγ<
1 T81,λγ,0<

1 + 5 ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ� d80,1−λγ<
2 T81,λγ,0<

2 +

3 ÆÇ ϕ λγ+Ç H1−λf�L ϕ� d81,1−λγ<
1 T81,λγ,1<

1 + 5 ÆÇ ϕ λγ+Ç H1−λf�L ϕ� d81,1−λγ<
2 T81,λγ,1<

2 L

Putting λγ =

1 or − 1 where J = 1 and λZ = 1 or − 1 Halso incorporating number coeficients into Ts and AsL
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H
Aλf�

JZ D8−1,λf�<
JZ

H
Sum@HÆÇ ϕ λγ+Ç H−1−λf�L ϕ�

d8−1,−1−λγ<
1 T8−1,λγ,−1<

1 L, 8Subscript@λ, γD, −1, −1<D +

ÆÇ ϕ λγ+Ç H−1−λf�L ϕ�
d8−1,−1−λγ<

2 T8−1,λγ,−1<
2 +

Sum@ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ�
d80,−1−λγ<

0 T8−1,λγ,0<
0 , 8Subscript@λ, γD, −1, −1<D +

Sum@ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ�
d80,−1−λγ<

1 T8−1,λγ,0<
1 , 8Subscript@λ, γD, −1, −1<D +

ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ�
d80,−1−λγ<

2 T8−1,λγ,0<
2 +

Sum@ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ�
d81,−1−λγ<

1 T8−1,λγ,1<
1 , 8Subscript@λ, γD, −1, −1<D +

ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ�
d81,−1−λγ<

2 T8−1,λγ,1<
2

L +

Aλf�
JZ D80,λf�<

JZ

H
ÆÇ ϕ H−1+λγL−Ç λf� ϕ�

d8−1,−λγ<
1 T80,λγ,−1<

1 +

ÆÇ ϕ H−1+λγL−Ç λf� ϕ�
d8−1,−λγ<

2 T80,λγ,−1<
2 +

ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

0 T80,λγ,0<
0 +

ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

1 T80,λγ,0<
1 +

ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

2 T80,λγ,0<
2 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ�
d81,−λγ<

1 T80,λγ,1<
1 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ�
d81,−λγ<

2 T80,λγ,1<
2

L +

Aλf�
JZ D81,λf�<

JZ

H
Sum@ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ�

d8−1,1−λγ<
1 T81,λγ,−1<

1 , 8Subscript@λ, γD, 1, 1<D +

ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ�
d8−1,1−λγ<

2 T81,λγ,−1<
2 +

Sum@ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ�
d80,1−λγ<

0 T81,λγ,0<
0 , 8Subscript@λ, γD, 1, 1<D +

Sum@ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ�
d80,1−λγ<

1 T81,λγ,0<
1 , 8Subscript@λ, γD, 1, 1<D +

ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ�
d80,1−λγ<

2 T81,λγ,0<
2 +

Sum@ÆÇ ϕ λγ+Ç H1−λf�L ϕ�
d81,1−λγ<

1 T81,λγ,1<
1 , 8Subscript@λ, γD, 1, 1<D +

ÆÇ ϕ λγ+Ç H1−λf�L ϕ�
d81,1−λγ<

2 T81,λγ,1<
2

L
L

Aλf�
JZ D8−1,λf�<

JZ

HÆ−Ç ϕ+Ç H−1−λf�L ϕ� d8−1,0<
1 T8−1,−1,−1<

1 + ÆÇ H−1−λf�L ϕ� d80,0<
0 T8−1,−1,0<

0 + ÆÇ H−1−λf�L ϕ� d80,0<
1 T8−1,−1,0<

1 +

ÆÇ ϕ+Ç H−1−λf�L ϕ� d81,0<
1 T8−1,−1,1<

1 + ÆÇ ϕ λγ+Ç H−1−λf�L ϕ� d8−1,−1−λγ<
2 T8−1,λγ,−1<

2 +

ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ� d80,−1−λγ<
2 T8−1,λγ,0<

2 + ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ� d81,−1−λγ<
2 T8−1,λγ,1<

2 L +
Aλf�

JZ D80,λf�<
JZ HÆÇ ϕ H−1+λγL−Ç λf� ϕ

�
d8−1,−λγ<

1 T80,λγ,−1<
1 + ÆÇ ϕ H−1+λγL−Ç λf� ϕ

�
d8−1,−λγ<

2 T80,λγ,−1<
2 +

ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
0 T80,λγ,0<

0 + ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
1 T80,λγ,0<

1 + ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
2 T80,λγ,0<

2 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
1 T80,λγ,1<

1 + ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
2 T80,λγ,1<

2 L +
Aλf�

JZ D81,λf�<
JZ HÆ−Ç ϕ+Ç H1−λf�L ϕ� d8−1,0<

1 T81,1,−1<
1 + ÆÇ H1−λf�L ϕ� d80,0<

0 T81,1,0<
0 + ÆÇ H1−λf�L ϕ� d80,0<

1 T81,1,0<
1 +

ÆÇ ϕ+Ç H1−λf�L ϕ� d81,0<
1 T81,1,1<

1 + ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ� d8−1,1−λγ<
2 T81,λγ,−1<

2 +

ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ� d80,1−λγ<
2 T81,λγ,0<

2 + ÆÇ ϕ λγ+Ç H1−λf�L ϕ� d81,1−λγ<
2 T81,λγ,1<

2 L

Just writing it out in a nice form and summing over JZ
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H
Sum@Aλf�

JZ D8−1,λf�<
JZ , 8Subscript@J, ZD, 0, 2<D

H
Æ−Ç ϕ+Ç H−1−λf�L ϕ�

d8−1,0<
1 T8−1,−1,−1<

1 +

ÆÇ H−1−λf�L ϕ�
d80,0<

0 T8−1,−1,0<
0 +

ÆÇ H−1−λf�L ϕ�
d80,0<

1 T8−1,−1,0<
1 +

ÆÇ ϕ+Ç H−1−λf�L ϕ�
d81,0<

1 T8−1,−1,1<
1 +

ÆÇ ϕ λγ+Ç H−1−λf�L ϕ�
d8−1,−1−λγ<

2 T8−1,λγ,−1<
2 +

ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ�
d80,−1−λγ<

2 T8−1,λγ,0<
2 +

ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ�
d81,−1−λγ<

2 T8−1,λγ,1<
2

L +

Sum@Aλf�
JZ D80,λf�<

JZ , 8Subscript@J, ZD, 0, 2<D
H

ÆÇ ϕ H−1+λγL−Ç λf� ϕ�
d8−1,−λγ<

1 T80,λγ,−1<
1 +

ÆÇ ϕ H−1+λγL−Ç λf� ϕ�
d8−1,−λγ<

2 T80,λγ,−1<
2 +

ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

0 T80,λγ,0<
0 +

ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

1 T80,λγ,0<
1 +

ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

2 T80,λγ,0<
2 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ�
d81,−λγ<

1 T80,λγ,1<
1 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ�
d81,−λγ<

2 T80,λγ,1<
2

L +

Sum@Aλf�
JZ D81,λf�<

JZ , 8Subscript@J, ZD, 0, 2<D
HÆ−Ç ϕ+Ç H1−λf�L ϕ�

d8−1,0<
1 T81,1,−1<

1 +

ÆÇ H1−λf�L ϕ�
d80,0<

0 T81,1,0<
0 +

ÆÇ H1−λf�L ϕ�
d80,0<

1 T81,1,0<
1 +

ÆÇ ϕ+Ç H1−λf�L ϕ�
d81,0<

1 T81,1,1<
1 +

ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ�
d8−1,1−λγ<

2 T81,λγ,−1<
2 +

ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ�
d80,1−λγ<

2 T81,λγ,0<
2 +

ÆÇ ϕ λγ+Ç H1−λf�L ϕ�
d81,1−λγ<

2 T81,λγ,1<
2

L
L

HAλf�
0 D8−1,λf�<

0 + Aλf�
1 D8−1,λf�<

1 + Aλf�
2 D8−1,λf�<

2 L
HÆ−Ç ϕ+Ç H−1−λf�L ϕ� d8−1,0<

1 T8−1,−1,−1<
1 + ÆÇ H−1−λf�L ϕ� d80,0<

0 T8−1,−1,0<
0 + ÆÇ H−1−λf�L ϕ� d80,0<

1 T8−1,−1,0<
1 +

ÆÇ ϕ+Ç H−1−λf�L ϕ� d81,0<
1 T8−1,−1,1<

1 + ÆÇ ϕ λγ+Ç H−1−λf�L ϕ� d8−1,−1−λγ<
2 T8−1,λγ,−1<

2 +

ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ� d80,−1−λγ<
2 T8−1,λγ,0<

2 + ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ� d81,−1−λγ<
2 T8−1,λγ,1<

2 L +
HAλf�

0 D80,λf�<
0 + Aλf�

1 D80,λf�<
1 + Aλf�

2 D80,λf�<
2 L

HÆÇ ϕ H−1+λγL−Ç λf� ϕ
�

d8−1,−λγ<
1 T80,λγ,−1<

1 + ÆÇ ϕ H−1+λγL−Ç λf� ϕ
�

d8−1,−λγ<
2 T80,λγ,−1<

2 +

ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
0 T80,λγ,0<

0 + ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
1 T80,λγ,0<

1 + ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
2 T80,λγ,0<

2 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
1 T80,λγ,1<

1 + ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
2 T80,λγ,1<

2 L +
HAλf�

0 D81,λf�<
0 + Aλf�

1 D81,λf�<
1 + Aλf�

2 D81,λf�<
2 L HÆ−Ç ϕ+Ç H1−λf�L ϕ� d8−1,0<

1 T81,1,−1<
1 + ÆÇ H1−λf�L ϕ� d80,0<

0 T81,1,0<
0 +

ÆÇ H1−λf�L ϕ� d80,0<
1 T81,1,0<

1 + ÆÇ ϕ+Ç H1−λf�L ϕ� d81,0<
1 T81,1,1<

1 + ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ� d8−1,1−λγ<
2 T81,λγ,−1<

2 +

ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ� d80,1−λγ<
2 T81,λγ,0<

2 + ÆÇ ϕ λγ+Ç H1−λf�L ϕ� d81,1−λγ<
2 T81,λγ,1<

2 L

Removing wrong Wigner d matrix elements and putting in λf' = 0 where JZ = 0 :

param =

8
Subsuperscript@d, 80, 0<, 0D → 1,
Subsuperscript@D, 80, 0<, 0D → 1
<
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HAλf�
1 D8−1,λf�<

1 + Aλf�
2 D8−1,λf�<

2 L
HÆ−Ç ϕ+Ç H−1−λf�L ϕ�

d8−1,0<
1 T8−1,−1,−1<

1 + ÆÇ H−1−λf�L ϕ�
d80,0<

0 T8−1,−1,0<
0 + ÆÇ H−1−λf�L ϕ�

d80,0<
1 T8−1,−1,0<

1 +

ÆÇ ϕ+Ç H−1−λf�L ϕ�
d81,0<

1 T8−1,−1,1<
1 + ÆÇ ϕ λγ+Ç H−1−λf�L ϕ�

d8−1,−1−λγ<
2 T8−1,λγ,−1<

2 +

ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ�
d80,−1−λγ<

2 T8−1,λγ,0<
2 + ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ�

d81,−1−λγ<
2 T8−1,λγ,1<

2 L +

HSum@Aλf�
0 D80,λf�<

0 , 8Subscript@λ, f'D, 0, 0<D + Aλf�
1 D80,λf�<

1 + Aλf�
2 D80,λf�<

2 L
HÆÇ ϕ H−1+λγL−Ç λf� ϕ�

d8−1,−λγ<
1 T80,λγ,−1<

1 + ÆÇ ϕ H−1+λγL−Ç λf� ϕ�
d8−1,−λγ<

2 T80,λγ,−1<
2 +

ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

0 T80,λγ,0<
0 + ÆÇ ϕ λγ−Ç λf� ϕ�

d80,−λγ<
1 T80,λγ,0<

1 + ÆÇ ϕ λγ−Ç λf� ϕ�
d80,−λγ<

2 T80,λγ,0<
2 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ�
d81,−λγ<

1 T80,λγ,1<
1 + ÆÇ ϕ H1+λγL−Ç λf� ϕ�

d81,−λγ<
2 T80,λγ,1<

2 L +

HAλf�
1 D81,λf�<

1 + Aλf�
2 D81,λf�<

2 L HÆ−Ç ϕ+Ç H1−λf�L ϕ�
d8−1,0<

1 T81,1,−1<
1 + ÆÇ H1−λf�L ϕ�

d80,0<
0 T81,1,0<

0 +

ÆÇ H1−λf�L ϕ�
d80,0<

1 T81,1,0<
1 + ÆÇ ϕ+Ç H1−λf�L ϕ�

d81,0<
1 T81,1,1<

1 + ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ�
d8−1,1−λγ<

2 T81,λγ,−1<
2 +

ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ�
d80,1−λγ<

2 T81,λγ,0<
2 + ÆÇ ϕ λγ+Ç H1−λf�L ϕ�

d81,1−λγ<
2 T81,λγ,1<

2 L

Out@66D ê. param

HAλf�
1 D8−1,λf�<

1 + Aλf�
2 D8−1,λf�<

2 L
HÆ−Ç ϕ+Ç H−1−λf�L ϕ� d8−1,0<

1 T8−1,−1,−1<
1 + ÆÇ H−1−λf�L ϕ� T8−1,−1,0<

0 + ÆÇ H−1−λf�L ϕ� d80,0<
1 T8−1,−1,0<

1 +

ÆÇ ϕ+Ç H−1−λf�L ϕ� d81,0<
1 T8−1,−1,1<

1 + ÆÇ ϕ λγ+Ç H−1−λf�L ϕ� d8−1,−1−λγ<
2 T8−1,λγ,−1<

2 +

ÆÇ ϕ H1+λγL+Ç H−1−λf�L ϕ� d80,−1−λγ<
2 T8−1,λγ,0<

2 + ÆÇ ϕ H2+λγL+Ç H−1−λf�L ϕ� d81,−1−λγ<
2 T8−1,λγ,1<

2 L +
HA0

0 + Aλf�
1 D80,λf�<

1 + Aλf�
2 D80,λf�<

2 L HÆÇ ϕ H−1+λγL−Ç λf� ϕ
�

d8−1,−λγ<
1 T80,λγ,−1<

1 +

ÆÇ ϕ H−1+λγL−Ç λf� ϕ
�

d8−1,−λγ<
2 T80,λγ,−1<

2 + ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
0 T80,λγ,0<

0 +

ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
1 T80,λγ,0<

1 + ÆÇ ϕ λγ−Ç λf� ϕ
�

d80,−λγ<
2 T80,λγ,0<

2 +

ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
1 T80,λγ,1<

1 + ÆÇ ϕ H1+λγL−Ç λf� ϕ
�

d81,−λγ<
2 T80,λγ,1<

2 L +
HAλf�

1 D81,λf�<
1 + Aλf�

2 D81,λf�<
2 L HÆ−Ç ϕ+Ç H1−λf�L ϕ� d8−1,0<

1 T81,1,−1<
1 + ÆÇ H1−λf�L ϕ� T81,1,0<

0 +

ÆÇ H1−λf�L ϕ� d80,0<
1 T81,1,0<

1 + ÆÇ ϕ+Ç H1−λf�L ϕ� d81,0<
1 T81,1,1<

1 + ÆÇ ϕ H−2+λγL+Ç H1−λf�L ϕ� d8−1,1−λγ<
2 T81,λγ,−1<

2 +

ÆÇ ϕ H−1+λγL+Ç H1−λf�L ϕ� d80,1−λγ<
2 T81,λγ,0<

2 + ÆÇ ϕ λγ+Ç H1−λf�L ϕ� d81,1−λγ<
2 T81,λγ,1<

2 L
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1
ccccccc
32

i
k
jj4 CosA θ

�
cccccc
2
E

4
A−1

1 2
+ 8 CosA θ

�
cccccc
2
E

4
H−1 + 2 Cos@θ�DL A−1

1 A−1
2 +

4 CosA θ
�

cccccc
2
E

4
H1 − 2 Cos@θ�DL2 A−1

2 2
+ Sin@θ�D2 A0

12
+ 2 è!!!6 Cos@θ�D Sin@θ�D2 A0

1 A0
2 +

6 Cos@θ�D2 Sin@θ�D2 A0
22
+ A1

12
− 2 Cos@θ�D A1

12
+ Cos@θ�D2 A1

12
+ 2 A1

1 A1
2 − 6 Cos@θ�D2 A1

1 A1
2 +

4 Cos@θ�D3 A1
1 A1

2 + A1
22
+ 2 Cos@θ�D A1

22
− 3 Cos@θ�D2 A1

22
− 4 Cos@θ�D3 A1

22
+ 4 Cos@θ�D4 A1

22y
{
zz

I4 Sin@θD2 T8−1,−1,−1<
1 2

+ 12 Cos@θD2 Sin@θD2 T8−1,−1,−1<
2 2

+ 16 T8−1,−1,0<
0 2

+

32 Cos@θD T8−1,−1,0<
0 T8−1,−1,0<

1 + 16 Cos@θD2 T8−1,−1,0<
1 2

− 8 T8−1,−1,0<
0 T8−1,−1,0<

2 +

24 Cos@θD2 T8−1,−1,0<
0 T8−1,−1,0<

2 − 8 Cos@θD T8−1,−1,0<
1 T8−1,−1,0<

2 +

24 Cos@θD3 T8−1,−1,0<
1 T8−1,−1,0<

2 + 2 T8−1,−1,0<
2 2

− 12 Cos@θD2 T8−1,−1,0<
2 2

+ 18 Cos@θD4 T8−1,−1,0<
2 2

−

16 Cos@ϕD Sin@θD T8−1,−1,0<
0 T8−1,−1,1<

1 − 8 Cos@ϕD Sin@2 θD T8−1,−1,0<
1 T8−1,−1,1<

1 +

4 Cos@ϕD Sin@θD T8−1,−1,0<
2 T8−1,−1,1<

1 − 12 Cos@θD2 Cos@ϕD Sin@θD T8−1,−1,0<
2 T8−1,−1,1<

1 +

4 Sin@θD2 T8−1,−1,1<
1 2

− 8 è!!!6 Cos@θD Cos@ϕD Sin@θD T8−1,−1,0<
0 T8−1,−1,1<

2 −

8 è!!!6 Cos@θD2 Cos@ϕD Sin@θD T8−1,−1,0<
1 T8−1,−1,1<

2 +

4 è!!!6 Cos@θD Cos@ϕD Sin@θD T8−1,−1,0<
2 T8−1,−1,1<

2 −

12 è!!!6 Cos@θD3 Cos@ϕD Sin@θD T8−1,−1,0<
2 T8−1,−1,1<

2 + 4 è!!!6 Cos@θD Sin@θD2 T8−1,−1,1<
1 T8−1,−1,1<

2 +

12 Cos@θD2 Sin@θD2 T8−1,−1,1<
2 2

+ 4 Cos@θD Sin@θD T8−1,−1,−1<
2

I2 è!!!6 Cos@ϕD T8−1,−1,0<
0 + 2 è!!!6 Cos@θD Cos@ϕD T8−1,−1,0<

1 −è!!!6 Cos@ϕD T8−1,−1,0<
2 + 3 è!!!6 Cos@θD2

Cos@ϕD T8−1,−1,0<
2 −è!!!6 Cos@2 ϕD Sin@θD T8−1,−1,1<

1 − 3 Cos@2 ϕD Sin@2 θD T8−1,−1,1<
2 M −

8 Cos@ϕD Sin@θD T8−1,−1,0<
0 T8−1,1,−1<

2 − 8 Cos@θD Cos@ϕD Sin@θD T8−1,−1,0<
0 T8−1,1,−1<

2 −

8 Cos@θD Cos@ϕD Sin@θD T8−1,−1,0<
1 T8−1,1,−1<

2 − 8 Cos@θD2 Cos@ϕD Sin@θD T8−1,−1,0<
1 T8−1,1,−1<

2 +

4 Sin@θD2 T8−1,−1,1<
1 T8−1,1,−1<

2 + 4 Cos@θD Sin@θD2 T8−1,−1,1<
1 T8−1,1,−1<

2 +

2 Sin@θD2 T8−1,1,−1<
2 2

+ 4 Cos@θD Sin@θD2 T8−1,1,−1<
2 2

+ 2 Cos@θD2 Sin@θD2 T8−1,1,−1<
2 2

+

4 è!!!6 Cos@2 ϕD Sin@θD2 T8−1,−1,0<
0 T8−1,1,0<

2 + 4 è!!!6 Cos@θD Cos@2 ϕD Sin@θD2 T8−1,−1,0<
1 T8−1,1,0<

2 −

2 è!!!6 Cos@ϕD Sin@θD3 T8−1,−1,1<
1 T8−1,1,0<

2 − 2 è!!!6 Cos@ϕD Sin@θD3 T8−1,1,−1<
2 T8−1,1,0<

2 −

2 è!!!6 Cos@θD Cos@ϕD Sin@θD3 T8−1,1,−1<
2 T8−1,1,0<

2 + 3 Sin@θD4 T8−1,1,0<
2 2

−

8 Cos@3 ϕD Sin@θD T8−1,−1,0<
0 T8−1,1,1<

2 + 4 Cos@3 ϕD Sin@2 θD T8−1,−1,0<
0 T8−1,1,1<

2 +

8 Cos@θD2 Cos@3 ϕD Sin@θD T8−1,−1,0<
1 T8−1,1,1<

2 − 4 Cos@3 ϕD Sin@2 θD T8−1,−1,0<
1 T8−1,1,1<

2 +

4 Cos@2 ϕD Sin@θD2 T8−1,−1,1<
1 T8−1,1,1<

2 − 4 Cos@θD Cos@2 ϕD Sin@θD2 T8−1,−1,1<
1 T8−1,1,1<

2 +

4 Cos@2 ϕD Sin@θD2 T8−1,1,−1<
2 T8−1,1,1<

2 − 4 Cos@θD2 Cos@2 ϕD Sin@θD2 T8−1,1,−1<
2 T8−1,1,1<

2 −

2 è!!!6 Cos@ϕD Sin@θD3 T8−1,1,0<
2 T8−1,1,1<

2 + 2 è!!!6 Cos@θD Cos@ϕD Sin@θD3 T8−1,1,0<
2 T8−1,1,1<

2 +

2 Sin@θD2 T8−1,1,1<
2 2

− 4 Cos@θD Sin@θD2 T8−1,1,1<
2 2

+ 2 Cos@θD2 Sin@θD2 T8−1,1,1<
2 2

+

2 T8−1,−1,−1<
1 I2 è!!!6 Cos@θD Sin@θD2 T8−1,−1,−1<

2 + 8 Cos@ϕD Sin@θD T8−1,−1,0<
0 +

4 Cos@ϕD Sin@2 θD T8−1,−1,0<
1 − 2 Cos@ϕD Sin@θD T8−1,−1,0<

2 + 6 Cos@θD2 Cos@ϕD Sin@θD
T8−1,−1,0<

2 − 4 Cos@2 ϕD Sin@θD2 T8−1,−1,1<
1 − 2 è!!!6 Cos@θD Cos@2 ϕD Sin@θD2 T8−1,−1,1<

2 −

2 Cos@2 ϕD Sin@θD2 T8−1,1,−1<
2 − 2 Cos@θD Cos@2 ϕD Sin@θD2 T8−1,1,−1<

2 +è!!!6 Cos@3 ϕD
Sin@θD3 T8−1,1,0<

2 − 2 Cos@4 ϕD Sin@θD2 T8−1,1,1<
2 + 2 Cos@θD Cos@4 ϕD Sin@θD2 T8−1,1,1<

2 MM
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